'F{-. b"ﬂ\"’

Gf-f"l
G.MJ. L""""“‘
Compleie Ssrare
f(x)=x2+2x—-9 x?—=12x =28 ¥ 3¢
Solve by Completing the <
Square O’Y Fax-9 "Ds]f‘}'}fo (é "1
=y F2x $\ j(x_ ,E !
’——1 I; = *3
o= ‘“-D G.‘?B )
- K=
Niow =x| @3 =(14
x=-|£Ji0" -8 =&
¥t —4x =2x +35 2x‘+‘2%+_'f=9~
2 i
= 9 =235%1
‘“]'J'SJ* X=Gxt > T
A '( = X ta¥X*tz=0
X~ =
?ID U;'f xt-l-irﬁr -‘-'—_?--L?
-5t . %l X-3 = tJqy 2 eam| >
x= 3> EJ¥Y Xty )T\l
- s”
= "4t
- _¢ A3t —4dx—4=0 ﬁzfgg!_ﬁ
4§ X4 2o Do
1 37 ¥ -9%¥ =-9|+k
LR He
X"jPH'ﬁ =1,4
k) 9 3 g 'j_
E:L;’L% \( 2 [ (x-4) =T ]
T
Roq_ 1 -
itaT g X-3 = td U+
3 > X= 13V
2,4
Y = -i’i::s
2,4 2.1
USRS > 3
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X toxte = 0

Quadratic Formula Solve each using the quadratic formula.
—b + Vb? — 4ac @z b="b ¢=-5
= 2a 242 —3x—5=0 2m? — 7m ~13 = ~10
1 2 --J -'b =
on 34/ EXS) C O
a_(z;) 7i JC‘T'JL-HCQ.)L-}}
x=_—bi Vb2 — 4ac + \!‘f (—C{O) 2(2)
e 2= T LD N TR
3“"7 'L_—]' +J 4 _ '51'_] "{ '
4 q =5 = 5 gl RVIF)
/’\ M*=4+7n 8n*+7n—15=-7 "C!— L1
.s-? _.‘ T -4 =
ENy D=~ o
A
7 £ VN =9¢8)C4)
aes)
7145 -(-1u4)
13 8a® + 6a = -5
1+ 185
|¢
144153
19~ 7]
Complex Numbers Simplify each imaginary number.
atoo <
>
? Tnuimrr V=25 < 25" F[ \/-_81=W L,:-lll ——=100 g::}; '5: ¢
- S¢ q¢ ~10,
L=V~ +V°36 3 =V
16y JS o

51Pa
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Operations of Complex
Numbers

Cirlor +ctde
Vet + Cord)e

(%)

o~
'
~
N
T/
"
|

i+6i= 1,

-3+ 6f —(—5—3i) —8i
3 rei S 3-8

240

(-2 —-0)(4+1)

-3 -2i-Y-¢"

~8-~bc-(-1)

~8-6e *l
- ~bo

(2+30)(2 - 30)

(- Cobes =i
Y ~4(-)
Y+4

(3

gl et 2 8

-5 -1

~
4i(—2 — 8i)
~%i-A”
- 8. -2l

- e td2 .
2= v

(8 +3i0)?
(5+5)(8+>0)
M4 240 4903

U vyss +960)
5SS +438.
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H;_s SqLer= Roof
No ¢5$.

Coaﬁ plex
Hes ¢

Solve Each Quadratic. Tell whether the solution is rational, irrational,

or complex

e ——

¥2—-5x+10=0 x2+4x+2=10
—x245x—6=0 a®—-5a+8=0
x*+6x+12=0 10x% — 11x +9 = 13x — 6x°
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